mETA SO

(E W)
5 =
LEBEEH 22,306 A 21,687 A A
SEEH TERE 5,867 A 5,086 A A
HAERE 3,549 A 3,852 A A
TEERE 40 A 49 A A
it 9,456 A 8,987 A A
SEEDOS B RIRE 0 A 0 A A
THEEREDS> B = 0 A 0 A A
ER 0 A 0 A A
EEEN 12,850 A 12,700 A A
BER 42.39 % 41.44 % %
(F£5H)
£ =
LEBEEYR 6 A 13 A A
BEEH NEE - BME - BREFT 1 A 0 A 1 A
HARAEE 0 A 0 A 0 A
TEERE 0 A 0 A 0 A
it 1 A 0 A I A
BEEDSH = 0 A 0 A 0 A
TEERREDOD T2 0 A 0 A 0 A
ER 0 A 0 A 0 A
ZEEEN 5 A 13 A A
BEXR 16.67 % 0.00 % %
(BN +7E45)
E:] k-
LEHEEY 22,312 A 21, 700
BEEH 9,457 A 8, 987
EEEN 12,855 A 12,713
BER 42.39 % 41. 41




